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Moles - Stoichiometry Review b o 03“’

1. Find the molar masses for: L
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2. Mole Relationships 2
a. How manare in 45.8L of O3 gas at STP?
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d. What is the(ass, in grams)of 16.44L of CO, gas at STP?
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e. How manyCatoms¥are in 101.0g of Ti?
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f. Whatis th?of 7.65 x 10°° molecules of H,S? g
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3. Find the % of each element in the following substances:
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4. Empirical/Molecular Formulas
a. Write the empirical formula for these molecular formulas:

i CgHg C H
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5. Stoichiometry
a. 2KCIO; > 2KCl + 30, = \VEY
i. How manyd are produced from 6.00 moles of

KCIO,?
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b. Ci2H2204¢ + 120, = 12C0O; + 11H,0 GI\VEN
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ii. Whatis themroduced from the
reaction of 288.0g of O, with excess sugar?
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i. When 319 4g of FeS; reacts with 17.41g of Oy, how many =14 . j
O 1 (.00)= 1.0V moles of SO, are forrﬁﬁzj‘?\c\weus ; 8’.:1—3 Hzo
2?2

13.02 '
3dgFeSe|imo_ . 26b2p8lFeSe(Y mu S0 | 5 35y SO,

nq! mol Fe S
Molor Mass (PR \d _ i ‘2 ;
G5 I3 L{lﬂpipmol % .544(@9‘1 U\g#g mol S'Qa <] O. 345+ mol SO,
Fe:l(ss.¥5)=55.5% Sesy iimol0z  —— '
S: 2(32.08)= 4. 14 ii. What is the limiting reactant?
1e.99 The Umiting Reactant is Oz ble it produced +ha
smallest dmount SOe.
D2 iii. What is the mass of SO, produced by the limiting reactant?
: )= : )
S:1(32.0¥)=32.0¢ 0 3‘?5?moﬁoa|¢,4,o:fq =[ 25.359 SO,

4.0t



